Frame and Machine Analysis
Sunday, April 9, 2017 9:44 PM
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Center of Gravity

Monday, April 3, 2017 1:00 AM

Determine the location of the center of gravity of the
three-wheeler. The location of the center of gravity of y
cach component and its weight are tabulated in the
figure. If the three-wheeler is symmetrical with
respect to the x-y plane, determine the normal
reaction each of its wheels exerts on the ground.
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Internal Forces: Shear and Bending Moment

Sunday, April 9,2017  9:45 PM
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Method of Sections
Sunday, April 9, 201

7 9:46 PM

Determine the force in membe@m@ the

truss which serves to support the deck Qf abridgé” State if
these members are in tension or compression. \ g )
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Constraints and Reactions

Sunday, April 9, 2017 9:46 PM
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Types of Connection Reaction Number of Unknowns
(1)
0 6 One unknown. The reaction is a tension force which acts
F away from the member in the direction of the cable.
cable

‘L)V—"% 0 or 0 One unknown. The reaction is a force which acts along
i the axis of the link.
F F

weightless link

(3)
/ One unknown. The reaction is a force which acts
& perpendicular to the surface at the point of contact.
0& 6,
F

roller
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Types of Connection Reaction Number of Unknowns
)
i 2 One unknown. The reaction is a force which acts
0 perpendicular to the surface at the point of contact.
F
rocker

(5)
One unknown. The reaction is a force which acts
] 0 perpendicular to the surface at the point of contact.
F

smooth contacting
surface

Types of Connection Reaction Number of Unknowns

(6)
ﬁ ij or W One unknown. The reaction is a force which acts
/ F F perpendicular to the slot.

roller or pin in
confined smooth slot

(7)
' or
One unknown. The reaction is a force which acts
0 [ 0 perpendicular to the rod.
F

member pin connected

\ to collar on smooth rod
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Types of Connection Reaction Number of Unknowns
®) F, ¥
f Two unknowns. The reactions are two components of
or b force, or the magnitude and direction ¢ of the resultant
R T force. Note that ¢ and ¢ are not necessarily equal [usually
o not, unless the rod shown is a link as in (2)].
smooth pin or hinge
) /
Two unknowns. The reactions are the couple moment
NVM and the force which acts perpendicular to the rod.
F
member fixed connected
to collar on smooth rod \
(10
// :y )
Three unknowns. The reactions are the couple moment
F, b p
E Exg or and/the two force components, or the couple moment and
M M the/magnitude and direction ¢ of the resultant force.
Wt
\
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